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2. Fill in the blank: i, 5.
g _ ZA;, ¥,B, XCo, W.D.
(A) Jahan-Ara ) V " i
(B) Mumtaz Mahai o _ @ EY | : . .
- (C) NoorJahan ) s i ot Ts |
- (D) Raziya Sultana oo _ A ¥ N o : E
' ' (D) VE, - - y -
g WRe F=Ed fR e Sienm one ;EAHT,?} g i
o, SRAN ' P | ;
W) s ' @ &’fb A
B TeERA ' P el 1
(©) TERM | | - _
D) I FeTor /. (§;\ '

ﬁaawﬁiﬁmﬁ :

| ﬁ—ﬁmmwmﬁ@mﬁ: ZA Y,B, XC,, W,D, _ |
g (A) STEF-3T . A} , A) V,E k A
I G (B) HHATS Heel ®\\ ) g - (B) EV - i : .' 2 3

(C) T &M 6 © VE,
(D) T gerar

(D) VE, |
ﬁv_vﬂwwfﬁwnﬁuﬁwﬁ ; ' Ay VB XCo WD, .
(A) SEH-3TT ol | (A) V,E
(B) THATS HEel (B) EV
(C) TTeH (O VE,

(D) U@ gemm . _ (D) VE,



3. Anauthor who writes the story of another person’s
life in known as

(A) Historian
/-‘(B)- Biographer

(C) Chronicler

(D) Diarist

4. Choose from the following alternatives the word
which is opposite in meaning to the word “Ample”.
(A) Sufficient : =
(B) Rare
(©) Insufficient
(D) Enough

S. A copper sphere of radius 6 cm is melted to form
spheres of radius of 2 cm. How many such spheres can
be formed?

(A) 27
(B) 31
©) 14
(D) 36

ﬁcmWﬁﬁ%wﬁwmﬂﬁm
eI IR 3 (ol (oS 91 e

(A) 27

(B) 31

(C) 14

(D) 36

6 cm T3 aTet e
ﬁﬂmﬂlﬁmﬁw g2

(A) 27

(B) 31

<) 14

(D) 36

6cmmmmﬁwzcmmaﬁ
ﬁrﬁmwnmaﬂmaﬁ@? -

(A) 27

(B) 31

) 14

(D) 36

o
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6. The change of state of a matter directly from solid
to gas is called
(A) Sublimation
(B) Condensation
(C) Evaporation
(D) Deposition

B ST e TSy STaree H ufEda
FEAE

(A) AT

(B) =Rt

(C) arsdtehtar

(D) &9

= vy wiere’ wwmmmqﬁaﬁq ;
T, = g A

(A) FATm
(B) wrteRtu
(C) arsdisu
(D) =&
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7. Conversion of 0-5% in decimal is
(A) 0-005
(B) 0.05
(C) 5/100
(D) 0:5%x 10

0:5% & Wit AT T3 o W9 23 ¢
(A) 0.005

9. A child who has lost both of his parents is called—
(A) A prodigy
(B) A vagrant
(C) A street child
(D) An orphan

(B) 005 10. Choose the correct antonym of the underlined
(C) 5100 word: “Angels descend from heaven.”
(D) 0-5x10 (A) Blaze forth
0-5% = <l ¥ aRafia w0y W 9 T @ (B) Float gy
E?, 0-005 (C) Gallop s

) 005 (D) Come dow:
(©) 5/100 . .
D) 0:5x10

. Howm iers. crherem the Panchayat system

0-5% 1 TfHR IREd T i T 507 in WestB
(A) 0-005 (A)%
(B) 0-05
(©) 5/100
(D) 0:5x10° ) Four

8. Rabindranath Tagore wrote under the pseudonym

(C) Bonophul (b
(D) Bhanu Singha \Q

QAAGAL P T A : g
(A) sasa o
(B) Nz

©) I7g=

\(D)-SfAcE e}

= Y TR o v am @ foraa 92

(A) IREH
(B) sitaet

(©) =gt
(D) wyfEE

@amu%ﬂtﬁ@aﬁmﬁafhﬁr?
(A) WA
(B) i@t
(©) =TEe
(D) WgfeE

(A) Parasuram
(B) Birbal

SREAITI SIS FT B T e
(A) 5
(B) %&

eV
€) Bt >
om
iR ST b R e # fh @
(A) =
B) &

(C) =R
(D)

| WWW‘WMMWHIWW@?
(A) ¥
(B) §
(C) =R
(D)
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12. The Right to Information Act was passed in 13. The age of the father 10 years ago was thrice the_
B et : age of his son. Ten years hence, father'sage will be twice
(A) 1952 s that of his son. The ratio of their present age is
(B) 1977 (A) 7:3 ' '
(C) 2005 _ \ . ®) 5:2 3]
(D) 2000 B Forc 2 (C)9:2 '
fé\"‘ @ 13:4 30 fx s A
Tn =16 . 2n4l0 - * Akl
2 ‘ 0

mzﬂmﬂmmmmﬁﬁmﬁn
" SR TR SR WA G A AT 2 e {0z o T fed 2a A e
& mw

(A) 1952 g 2
®) 1977 ALV =
~€) 2005 B)** = 2 — 10 = KT
(D) 2000 ' 0% el
. %= gl 20
% ) 13:4 ¢ 'ri’_a_c_:;f__ﬂ
S e = Cante e
P, - 305 REr e
- ' 103 e fore = 277 93 1 S & 6 T o 1=
S A (gw aﬁmﬁmagmgaaa%aﬂﬁﬁwﬁlﬁ R
waﬁq‘lﬂ .
(A) 1952 - 5 7 :n - 20
®) 1977 i Lo R
52
(C) 2005 gg 9:2
(D) 2000 (D) 13:4
(fﬂ.ﬁ' ) Q’)«.—-ﬂ ik : '
. Sl 103&&#@%@3@@%%@%13@
mmﬁmm{ﬂwgwnﬁﬁw—ﬂaﬁm
qamm“ra?ﬁtmaﬁ:ﬁm@quzm Glake: m@ﬁ‘iﬁlﬁ?
(A) 1952 L (A) 7:3
(B) 1977 e B) 5:2
(C) 2005 el (©9:2
D) 2000 e (D) 13:4
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- 14. A rectangle has width of 5 cm and diagonal of
13 cm. Find its perimeter. '

(A) 34 cm

(B) 36 cm
() 30cm
(D) 38cm

G GASCHET 27 5 cm @R 13 cm A
Crafta s v =9

(A) 34 cm
(B) 36 cm
(C) 30cm
(D) 38 cm

T ST T G S om qen i 13 cm{§
e O

(A) 34 '
®) 36 z: | %&k‘
(C) 30cm C{b’

(D) 38cm

TS EaH AR 5 cm THFW 13 cm B | IR
T 8 ; o

(A) 34cm .
(B) 36cm
(C) 30cm
(D) 38cm

d{Q

12 years, which is reduced by 5 years if the age of the
mother is excluded. The age of the mother is

(A) 40 years
(B) '48 years
(C) 50 years
(D) 42 years

T T QIR i 2 FAYIEHI I G 12 IS |
meﬁmai I T AT | T ITHA Fo?

(A) 40@, .
(B) .

SSES

)M
o

T T S S 6 i oivwd o 12 9 ¥ w5y
:@ﬂﬂa%waﬂmmsﬂwﬁrwﬁ%ﬁaﬁm

(A) 40 =9
(B) 48 7
(C) 50 94
(D) 42 =

. IS HRN T SR B e i a1 12 9
T | S SR T 3w oY 5 e o g ST
3 wfd B2 al 5 ,

(A) 40 34
(B) 48 99
(C) 5094
(D) 42 =

15. The average age of mother and her six children is




16. Find the exact number of squares in the following

T

figure: A B
! (A) 16
L (B) 15
i) © 12
| (D) 18
.f D C.
| % 844
! St =fifoce GG qsfewas wrat 2@ 3
| A B
(A) 16
(B) 15 r
© 12 L__J
(D) 18 —
v e ==
O

- ﬁﬁa@ﬁaﬁmﬁzﬁmmiéo
==

A) 16 ~
(B) 15 | rj\”’ f

© 12 £
(D) 18 D._i . C

P

17. Full form of FIR is
(A) First Investigation Report
(B) First Information Report
(C) First Incident Report
(D) First Instance Report

\FIR-47 #}°ff% el el ¢
(A) Firs@ﬁgation Report
B) Information Report
(

irst
% Incident Report
irst Instance Report Cp

FIRF QI ®IE :

(A) First Investigation Report

(B) First Information Report

(C) First Incident Report

(D) First Instance Report 16

g Y

FIR &I 70 &9 &

(A) First Investigation Report
(B) First Information Report
(C) First Incident Report

(D) First Instance Report
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18. Who was popularly known as ‘Sher-e-Punjab’?
(A) Bhagat Singh
(B) Jai Prakash Narayan
(C) Lala Lajpat Rai
. (D) Ram Monohar Lohia

‘CR-a--flgia’ i sifafoe fewem e
(A) &5 firg
(B) & 2 Fiamd
(£) =N et AR
~(D) AW W @R

(0 ¢

A
“IR-T-vee’ & W ¥ BA fem 97 (b
foe
LLUERSES
(C) e rerdd T4 %
(D) TH HAR whfean {b'

'IR-T-areE’ H A A fave B2
(A) v fo=

(B) ST WIS AR

(C) ren ersda

(D) TH TR ehfean

19. A man has some hens and cows. If the number of
heads be 48 and the number of legs equals to 140 then
the number of hen will be

(A) 22
(B) 23
(©) 26
(D) 24

G @ 5 9. PSR o | I
SITHR A GG ALT4IG IV GIG FRAT 1402, O
G iz <o ft ? —

(A) 2 W 132

B) & t%’ l\ o \'\\/’L«

T <At & I8 %o qittal ud T ¥ | 9f st 55
FFEA 48R TE T F FerTen 1409, S gt s gen
et e :

(A) 22

(B) 23

(C) 26

(D) 24

T AR W e 9T 1 v w1 4 oy e
431@#%@14{)%5&@:@1%@
(A) 22

(B) 23
(C) 26
(D) 24



20. An autorickshaw is moving at a speed of
40 km/hr for 2 hours and 30 minutes. If it reaches the

destination in another 1 hour, then the total distance
" covered by the auto will be '

(A) 120 km
(B) 140 km
(C) 160 km
(D) 200 km

@ SoifE 40 km/hr #ifStaTst 2 9% 30 s
SR | AW T TSR WS 1 9% AR e, g
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21. Each occupation has it own : bankers,
lawyers and computer professionals, for example, all
use among themselves language which outsiders have
difficulty to follow.

(A) rewards

(B) jargon

(C) disadvantages
(D) merits

22. Which of the following are primary colours?
(A) Blue, Red, Yellow

(B) Red, Yellow, Green
(C) Yellow,Blue, Green

SGIREHIT Gt T @Y Sfews IE0e (D) %Blue, Green
(A) 120 km
(B) 140 km @ FefEE CNfers 78 T@7 =2
(C) 160 km Y, =i, =0
(D) 200 km (B) ==, 2o, A& -
{O (C) ZA, e, I @
T AR 40 oo A i nfa & QF—IZ ﬁ%ﬁﬂﬁﬁﬁﬁﬂ?ﬁﬁmfﬂ%\?
1 ¢ | 7ol W qgeA  AfE 9 wa Henalttg 3 (A) ren, e, dren '
BT FT T HI \k~. (B) e, e, &0
(A) 120 TR, \Q} (©) e, Hem, &0
®B) 140 fwfa. N (D) =, e, &1
(©) 160 ffa. C@'
(D) 200 fwfa. Frrafefaa % 1 difes T &
(A) e, T, Ren
(B) Tell, veed, B
(C) ween, en, =i
T SRR 40 km/hr it 7ifqmn 2 w1 30 fafe (D) TR, e, e

AT | T3 T T 1 ST o | S IS, e o 3
el hid =edl?

(A) 120 km

(B) 140 km

(C) 160 km

(D) 200 km

Opposite of “SYNTHETIC” is
(A) Cosmetic
(B) Plastic
(C) Natural
(D) Artificial
\j
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24. Change the following interrogative sentence into
indirect speech:

25l

He asked me “do you like music?”
(A) He said that whether I like music.
(B) He told that whether you like music
(C) He asked me whether I liked music.
(D) He asked me did you like music.

Which number replaces the letter ‘X’?

L ®

(A) 263 | )
(B) 253 ) @ )

(©) 273

(D) 283 |

X % B @ 711 3
L ® ®

BO
(A) 263 @ ) 9

(B) 253
(©) 273

- (D) 283

" (A) 263

= fed e fog F egar X0 = w9 Sl

(A) 263
(B) 253
(C) 273
(D) 283

(B) 253
(C) 273
(D) 283

Al

10

26. Complete the series:
JAK,KBL,LCM,MDN, ______.

(A) OEB
(B) NEO
(C) PFQ
(D) MEN

e sl <ol s
JAK, KBL, L%DN, ;

(A) OE -
y o

N

JAK, KBL, LCM, MDN,
(A) OEB
(B) NEO
(©) PFQ
(D) MEN

A YT 3T
JAK, KBL, LCM, MDN,
(A) OEB
(B) NEO
©) PFQ
(D) MEN

ML Ay N SN = 2w g™y f




27. The word “Jhum” is meant for—

(A) Political movement in the North East of
India

(B) Agricultural activities in the North East of
India

(C) Tribal goddess of North East India

(D) Traditional dance form of North East India

-’L"
2

(A T R QRATS JIT T W2 ®
(A) Taed SATSA AATSD SCHIEA
By Seweld orTen IR I '
(C) Taeid ©rared Borere (el

(D) Tweld SrTed 2bfeTe A6

o = 7 ¥ T & el e 87
(A) W ¥ JaieR # T T ST=rer
(B) WA % Al

(C) WA & qEra ECll

(D) WG ¥ qarar o T T

‘g Y SRR % H TS?

(A) MG JaTaR TS Temfen STrrer
(B) W@ Jaiei (S F wRiwed
(C) WIawh el & i Sk <o -
(D) WG e’ TS T
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28. When you see any traffic signal, which sequence
of signal do you observe from top to bottom?

(A) Red - Green - Amber
(B) Green - Amber - Red
(C) Green - Red - Amber
(D) Red - Amber - Green

‘awﬁrﬁ?@ﬁaﬁwmeﬂ (@ AN
G T (@I T T ?
(A) -

2T frel W SR Y R F SR wam IR a4

feaa €?

(A) el - & - dien
(B) &1 - dten - =
(©) 0 - et - den
(D) =e - dtem - &1

T farern meft e 99, 9 G T T

(A) TR, BREn, wRe

(B) &, wred, T
(C) =, T, agen
(D) T, ween, B @
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9. Which day is observed as ‘World Environment
Day each year?

(A) 5th July

(B) 25th June ‘

(C) 5th June

(D) 15th June

memmmmm
?

(A) STEER

(B) 250 Tw
/_(C/) 5% g

(D)-153 g5

D
‘Q

ﬁwwmwwfﬂﬁﬂ ?
(A) 59eE
(B) 25
(C) 553

(D) 155

e}’b

forea e feor@ B o rer )
(A) 59T

(B) 25

©) 5%

®) 15

CK
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30. Inthecomputersoftware terminology, PDF stands
for : \

(A) Portable Document Format
(B) Portable Digital Form

(C) Printable Digital Format
tD) Printable Document Format

*

Computer So?&'ﬂ PDF 3216 #offst st e ¢

A) \ Document Format

e Digital Form

able Digital Format
Printable Document Format
@

FHR FRPR F I=<Eelt § PDR 2 2
(A) Portable Document Format

(B) Portable Digital Form

(C) Printable Digital Format

(D) Printable Document Format

)

TR TR m PDF & & ‘a‘f?
(A) Portable Document Format

(B) Portable Digital Form

(C) Printable Digital Format

(D) Printable Document Format



(A) Knowledgeable
(B) Omniscient
(C) Clever

(D) Intelligent

32. A pump can fill 2 tank with Water in 2 ho,
Because of a leak in the t i L iy
ank, it takes 2 3 hours to il ghe
tank. The leak can empty the filled tank in

(A) 2 % hours

(B) 8 hours

(C) 7 hours
"hours

wf%ﬂr“mﬁmz‘a%mwﬂmm.
G IH A T Gl 4 Fare 2reoiftq

(D) 14 5=

13

33. The father was anxious : .
his daughter.,

(A) at

(B) for

(C) about \\i =3
(D) with L@_

34. Whenaplotoflandissold for¥ 1 8,700, the owner
losses 15%. At which price the plot be sold in order to
gain 15%? W

(A) 22,500

®) T2
& s
((D§ésoo fﬁa’zﬁ

e ey o e e
(A) 25 9%m « © 247 . o<
(B) 8 9% O (A) 22,500 (gD X _¥>
(©) 79%R \0 (B) 21,000 L
@ 14 9% @‘ L) % 25,300
KRS R R g \%me%r T g ,
WY S A o e SR 9 3 ST A % TH TS A T 18,700 T = W suF Wi
AR et T E ' B 15% &l it ¥ 115% o e 38 sq ewe 9
(A) 25 w1 é T WA few?
(B) 8 Eer ' (A) T 22,500
(©) 7% (B) T 21,000
(D) 14 s (C) T 25,300
B R T (D) T 25,800
: mﬁﬁww%mmmw v@ﬁ@gmtlS,?Oﬂmﬁ%WIS%Hﬁf
ol 9 I v s iR i geem @l §97? D1 15% w1 e w9 qfi Hia o o) v
(A) 2%};@' r (A) ?22,500 '.
(B) 8 7= : (B) ¥ 21,000
©) 7 (C) T25,300
(D) T25,800
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- 35. If P denotes ‘+’, R denotes ‘x’, S denotes ‘~’ and

T denotes ‘/’(+) then what would be the value of
SR9P7S9T3P6?

(A) 55
(B) 39
©) 54
(D) 128

M P o, +, R4 O %, §-47 we

R T- 979 /' (+) W, S@5ROP 7 S9T3P6-
CERIDEE AU TR

(A) 55
(B) 39
(C) 54
(D) 128

Ifg P+ & aa = ®, R )
TS YgEawA@R, T /'(+) |
S5ROP7S9T3P 6% AHET ;

(A) 55 ’\
(B) 39 C{bv
(C) 54 -
(D) 128 |

afg pht &1+, R 31 %, SHraef w7y
s ¢/(+) 9, SRIOP7S9T3P 6 H aH g2

(A) 55

B) 39

(©) 54

(D) 128

36. Which of the following is not a session of the
Indian Parliament? .
(A) Summer session
(B) Winter session
(C) Monsoon session

(D) Budget session

qoa @D SR ST 2
(A) ST
(B) Citeutt

TTH /B WA GG 1 SAREE T 82
(A) Ureerets sifides -

~ (B) Yl sifedee
(C) Tt Stfdem
(D) e sAfeasm

TATSTR B AT HE = SAfdem 2rea?
- (A) TSR 3TfEem .

(B) YMaehreia arfudem

(C) aTRe aifudym

(D) wSE fedee



37. Which one of the following gland is located ve
near the brain? Ak

(A) Pituitary gland
(B) Thyroid gland
~ (C) Adrenal gland
(D) Pancreas

@ ¥ IR FRBE Iz w1, Gifs == 2
Na) PER o
(B) QfEFwe aff

T § F  7if wieh & g 7]
(A) fregeh ity o Q}
(B) ¥riEs U %
©) Hgrerdfy {b

(D) =R

mﬁm@uﬁqﬂaﬁmmm@?
(A) faegert 1y

(B) 9riEs UfY

(C) g A

(D) m=RE

15
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38. Arrange these four districts of West Bengal from
North to South '
(i) Burdwan
(ii) Bankura
(iii) Birbhum
(iv) Howrah
(A) (i), (i), (@), (iv)
(B) (1), (ii), (ii), (iv)
(O (i), (i), (i), (iv)
(D) @), (i), (i), (@v)

S5 M Eee i Tas (A niw i
S S A 8

@
(ii) gl Q
(iii) m’
(iv) A8 5
%ﬁi), @, @) R
(§(i), (i), (i), (iv) \é A
) (i), (@), (i), (iv) _

-

C{Q D) (), (i), (iii), (iv)
D

e e & T el B SR A I FFAA
e | |
(i) aHm
(ii) St
(iii) sRw
(iv) &aen
(A) (id), (iid), (i), (iv)
(B) (@), @ii), (ii), (iv)
(©) (i), (i), (i), (iv)
(D) (@), (i), (iii), (iv)
e SETe Tooet Teem Sal a1 S
LEIEGE
(i) a¥mE
- (i) a"l'grgr
(i) sRym
(iv) ®mEre
(A) (i), (i), @), (w)
(B) (@), (iii), (ii), (iv)
(©) (i), (i), (i), (iv)
(D) @), (i), (ii), (iv)
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39. Change the voice of the following sentence:
“Who is creating this mess?”
(A) By whom this mess is being created
(B) Who has created this mess.
(C) By whom is this mess being created.
(D) By whom has this mess been created.

40. Choose the correct synonym of the word
‘Insurgency’.

(A) Rebellion

(B) Hostility

(C) Attack

(D) Enmity

41. A clock loses 5 seconds a hour. If the time in the
clock is set right on sunday noon, then what time will it
indicate on monday noon (i.e., the next day)?

(A) 12 :00 Noon
(B) 11:58 PM
©) 12:02PM
(D) 11:58 AM

@ 9% 2f 9w 5 cies 3@ @ 2@ T
Tl A== 1oiea (1261 7w 9fefa s s @ et

WA ?
(A) 12 : 00 iz
(B) 11:58 PM
(C) 12:02PM
(D) 11:58 AM

o I T s 5 A
IMaar weag = 3 fuifa
1 IGH GHT BN

(A) 12 :00 941G

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM

THIA AT S FFeHFA TS I A TS Frama
foeR AeAE 3 T, & FHAR s OO H
TaEs?

(A) 12:00 T

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM

:ﬂwmm@(wvﬁamﬁ&?{@)@%%mC§

42. Sum of two numbers is 45. Their difference is
1/9th of their sum. Their L.C.M. is
(A) 100
(B) 150
(C) 250
(D) 200

a5 A ST 45 | TG R o
QIR 1/9 Six | AOA 717719, Z0A 8

&) 100
(B) 150 {b}%
(C) 250
(D) 2Q0f /% 0

) mﬁnwﬁ%ma‘mm#ﬁmmw
¥ | ST L.C.M. BT :

(A) 100

(B) 150

(C) 250
(D) 200

8 il AT 45 2 | ST SR THRS F 1/9
39 B | EH L.CM. F §?

(A) 100

(B) 150

(C) 250

(D) 200

43. A person who helps another to commit a crime is
called

(A) Colleague
(B) Accomplice
(C) Assistant
(D) Gangster



44. Introducing a boy, a girl said “He is the son of th
daughter of the father of my uncle. bl;{pw is the b :

related to the girl? ﬁ X
(A) Nephew 1 /
(B) Cousin
(C) Brother Y B'P ’Zf
(D) Son-in-laﬁ J
e, i
feg L

93l e S 7 T 99l @ we
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45. P,Q,R, S and T are five boys. Given that P is
taller than Q, R is shorter than P, S is taller than T but

shorter than Q, the tallest boy is
(A) P
®) Q
© T
(D) R

_ P,Q.R,S,Tm#rs@ﬂcaﬁ,ﬂﬁf’,qﬂﬂ#cw
a9 ; R, P99 (¢ 77; S, T-a3 (U o714 5%

“q S PO FIIF GIEE (A 101 0 @ (i il Q«ﬂmﬂ@cﬂfm@ TR L FRUBCE o7 =T (2 -
@C"’iﬁﬁaaww9 (A)
(A) =it | v B
/@ forrge o AT % = 5B 2
) O " ) R ol
Q | |
! (50 P,Q,R,STH T U= eie% € 1A P, Q | TaN §,
S O S— . 2 I_zﬁl::;;a%% S, Tﬁ—mﬁﬁqﬁrm% o A gy

?ﬁ%ﬁmﬂéﬂﬁrﬁa%l”mq.

?

(A) wtsT {b\\
®) T 6
(C) g
(D) |||

TS e o iR, e ey v, A AR
AT B! DI B | el TRl e F?

(A) ifert
B) W&
(©)

(D) g%

(A) P
(B) Q
© T
(D) R

P’_Q:R9 S,Tﬁmﬁlqﬁp,me,
R, P =181, S, T Wl &l TR Q Wl Sl WY, | =]
T 2

(A).P

B) Q

© T

©) R
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"l 46. The State with highest populatlon density is

(A) West Bengal
(B) Bihar

(C) Uttar Pradesh
(D) Maharashtra

TRUT (P TRt Tgsyef arenfb 2 ¢
(A) Ao

(B) Rz

(C) Teazmm 3

(D) WG /@

o

o e e S e
(A) s e .
B) faEr (b\
(C) SR e}
(D) HERTE

T W S S T 9
(A) ufyem SgT

(B) fR

(C) 3R ¥

(D) werg

18
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47. Dipa Karmakar participated in which game in
Olympics? ;
(A) Athletic
(B) Swimming
(C) Gymnastics
(D) Boxing

@fﬂﬁﬂﬁ%m@aﬁmmﬁ o foqa o2
(A) Ry
(B) Tt
() e
(D) ket

A eI, SHfRferen 3 1 S s ferdian
for? .

(A) Yeiferm

® f

(C) Tomsm

(D) HehsITSit
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48, Thesidesof amanglearemtheraho 0f7:9:12. The
difference between the lengths of the largest and smallegt
sides is 15 cm. The length of the largest side is -

(A) 12cm
(B) 24 cm
(C) 60cm
(D) 36 cm

a3 fagres Melw wAe =1 7: 9 12) 7%
HAEE @ A2 3R T (RITB! AE ST 15 om 27, O
TG TC AR 01 =(A 3

(A) 12cm

(B) 24 cm

(C) 60 cm

(D) 36 cm

R Fag7:9: lzé?aqgcrréﬁ% | FeH &
A STEST F HW 15 cm T | JgwH FIE Hl TG

2

(A) 12cm

(B) 24 cm \Q
(€) 60 cm (b |
D) 36cm - \Q

T e g 7: 9 123
Eﬁaﬂmﬂls.:m'@nmw

(A) 12cm
(B) 24 cm
(C) 60cm
(D) 36 cm

49. Choose the correct one word substitution of the

following sentence:
“A decision on which one cannot go back”.

(A) Incorrigible

(B) Irreplaceable
(C) Irrevocable

(D) Infallible

%,.C

sHped &R o | X Toal & cofes -
(A):@

Bt ﬂQ
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50. 630items are divided among X, Y and Z in such
a way that X gets thrice that of Y and Y gets
5 times that of Z. Find the number of items received by
X, :
(A) 425
(B) 400
(C) 450
(D) 475

6301 T X X 932 Z-99 S04 GN=SIt st
mem W A X, Y fonad @ag Y, Z-99 (A

D) 475

630 &G I X, Y U Z T 30 wehr A foyenfira foman
SR R XY & 6 7om &R Y 1 Z & wite on firemn
B X H fopem g et

(A) 425

(B) 400

(C) 450

(D) 475

630 SIEIH 9 X, Y, Z T I
XY w1 e o afe, yerz
Hid % wrA?
(A) 425
(B) 400
(C) 450
(D) 475

7 ot =l
0 S W XA
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52. In India, supply of money is controlled by

5L Ify=3x+12andy = 5, then the value of x is

i (A) Ministry of Finance
= (B) Reserve Bank of India
EIC); :;;3 (C) Finance Commission
- (D) State Bank of India

WMy =3x+ 1293 y = 5T, O@ 47 AT 3
(A) 377

' _/(B) 7/3

(© -7
(D) -713

ARy =3x+12TWy=5Aq, Rxw

- (A) 377 .
B) 7/3 Qk‘
(O =7 ) %
D) -7/3 {b'

O

gy = 3x + 12Ty = SHﬁ"x*%ﬂﬁﬁF*"ﬁ?
(A) 3/7 |

(B) 7/3

© -7

(D) -7/3

SIS BIe el i e Fa 2

TR H 1 < afToT e g P e s 82
PRY i

(B) ¥RdH fisrd ¥

(C) fom smam

(D) YR ®e ¥




21

53, When a number is firgt increased
then reduced by 10%, the number

(A) decreases by 19
(B) does not change
(©) increases by 1%
(D) increases by 99

by 10% ang

G THE AW A4 10% asﬁmw-;ﬁ- 10%
O =W, O 7w

(A) 1% =
1B} fsozm
(© 1% 3ot

®) 9% e 4 UO

aﬁ@mﬁm%wﬁmvmﬁx
&= s < 5% gen

(A) 1% %9 & sTait
(B) 9HM W - |

(C) 1% =g Tt

(D) 9% =5 St @'

T3 WA IS 10% T2 T HR 109% Sz

(A) 1% FA ED

(B) 9°F §®
(C) 1% 9B

54. Inacertaincode “PROSE" is written as “PPOQE"
how is “LIGHT” be written in that code?

(A) LIGHT
(B) LGGFT
(C) LGGHT
(D) LLGFE

O

3 (I AFSFHTS “PROSE” & “PPOQE”
ww@mmi A S@IEA “LIGHT” & Seig
T Z 2

(

_ ‘K@@m
Q(b&m

b .

Ll

i U Hahe forfir “PROSE”Eh“r“PPOQE” forar
ST ®, @ “LIGHT” %1 a1 feran wmam? \

(A) LIGHT
B) LGGFT
(C) LGGHT
(D) LLGFE

9 T W fefy w “PROSE” =i “PPOQE”
fera, “LIGHT” o =h ferftrmr st Sifigms?

(A) LIGHT

(B) LGGFT

(C) LGGHT

(D) 9% wTB

(D) LLGFE
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S5. Satyajit Ray Film & Television Institute s located

‘at | \

(A) Ranchi .JI
B) De{hj | !

~_© Kolata

(D) ‘\Mumbai

NATSITEE A1 G
e R i ZAHEs AT
(A) Fife
(B) _
© e (D \
(D) THiE

(24

TSt T e 10 efifeem sieye e fea
? ;

(A) U=h
(B) feweit
(C) hieTahma
(D) =i

22

56. ELISA testisused todetect whichofthe following :
disease?

(A) Cancer : : 3
(B) HIV/AIDS
(C) Brain tumor

(D) Malaria

ELISA &% :f\cmﬂwwwmm?
(A) wm'\ |

ELISAﬂmsaﬁﬁﬁqﬂna%mn%mm

Tar 82

(A) FR

(B) TH. 3. Hi/usH
(C) 9° =R

(D) "It

ELISA =! SI= % faume enfiy Ll

(A) F

(B) TH. oM. Hiruzgm
(C) 3 =FER

(D) et



(A) stronger

(B) strongful =

(C) strongest
(D) strengthen

58. Choose the best preflx which matches with the
word “Spoken”?

59.
below

Fill in the blank with appr@k%rds gi'ven
A police team was __ 0 ~the case.

.(B) constituted, investigate
" (C) committed, study

57 The exact word which denotes the highest degree
of companson to the word * strong” is

23

(A) De
(B) Out
(C) Dis
(D) En

0
\(\"b

(A) formed, followi 1&

.CD) located, adjudge

60. Evlaluaté the followingf
G) (Jﬁx?:]—(\/l—éx@ '

(V16 x'4) = (+/81x3)

A) 1

(B) -11

(C) 11

D) -1

e e W T T ¢
’ - (B1x3)-@/16x4)

(J_ 4)- (\/81x3)

(A1

(B) —-11 \

(C)

;“‘3) (‘/_6"4) =1 T e |

J16x4) (V81x3)

A 1.

(B) —11

©) 11

D) -1

e feush! 3k s 7 FereT
(VB1x3)- (16 x4)

55 1 (V16 x 4) - (\/81 x 3)

(B) —11

© 11

D) -1
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